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Time : Three hours N “Maximum : 75 marks
' SECTION A — (10 x 2 = 20 marks)
'Alfsv_ver any TEN questions.
1. Whatis Cost Unit? '
SILES |6V GTGTDITED GTevan?
2.  Write Sﬁort note on “Direct Material”,
. Gy gpevidungersdr Lph A GALY WS
3.  Define— Bin Card. % :
‘Qamaraaan S e — mmuuﬁgﬁh :
4  What do you mean by FIFO method?
FIFO @perp u,r_r)rﬂ ﬁ.&@&lg lLIﬂ’é]?
5.  What is Over Time?
Sess GBiib GTEMDITED eTebre?
6. Whatis Piece Rate System?
‘&é@ g penm’ GTEMMITE) GTEmET? »
7. What do you mean by Direct Redistribution Method?
Gy, opaugriad gpeop L § Sifligiurg?
8.  Define — Tr'ans'porf ‘Casting.

- QUITEGATSS SIL &S — Ul

R.Com @39 - Coat %-cvmw{n%/.

9.  What are the advantages of Pr'océss-Costing?

" L Hlene iL&S QEmaiien HaTeisar wmame?

10. Define — Machine Hour Rate.

W\

Quibdly sme NS - euamTwm.
11. What is Distribution Overheads?
aupser GLH@Fe|H6T GraTDTed GTaTe?
12. Write a short note on “Abnormal Process Loss”.

‘gmgren Ligflene B L’ uhd Hp GO eTpgis.



SECTION B — (6 x 5 = 25 marks)

- Answer any. FIVE questions.

13. Prepare a chart showing the different elements of Cost. ;

S ss Qswelar LOCam ULELYsmer &TU(HL  eflardsiuL b

g,mrnﬂa;&ml.o

14. Prepare Cost Sheet andfmd out the Cost of Sales.

Particulars - Rs.
Storekeeper wages 2,000
Tran]ing Expenses - 2,756
Advertising 5,000
‘Wf:?—iréhouse Charges 400
Salary (Office) 15,000 '

Repairs-Factory Plant 1,000
Repairs-Office Preﬁiises 2,500

Direct Expenées . -382,000

" Particulars Rs.
ljirgcf materials | 40,000
Direct Wages. 22,000

" Office St::l_tionery . 7,500

Telephone Charges \ 4,000
Factory Lighting - - 3,500
Office Lighting ' 1‘5,000
Postage and telegram 2,600

Salesmen salary 800

' 9Iiés Qewey grer swrhlig oiLbs elamawaw sarsda|b.

aﬁluméjg;'d'r i | - oSlLiyrRIsGeT i (.

LIGTL SSTLILTeTT sed - 2,000 Gpiy @Q)LJQUW@dTa;dT 40,000

| Gun&@@v&g Qewayser 2,750 Gy smeflaer 22,000 .
@S]meuufi; . 5,000 é{@]mé)as a@g@iun@ﬁh ‘ 7,500
L@ S Lewrld - .~ - 400 Qg,rrmm(’éuﬂ &LLqorid 4,000
SIQICUDG ae:gj‘juLb 15,000 ° %61576;.) eflens 3,500
u@gjur_rr'n_i - g@oGurfl 1,000 sigiuws dlerse l 15,000 .
LIQQSILIMTL - DI@IGUaELD 2,500 sumed HHID ghdl 2,600
Gmuq@&mm%eﬁ : , 32,000 @Slﬁ)l__lmmu_lrmrrr'r M@Q& 800
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emreu(pid eflLIgmisET éué;és]@ﬂu@u@m';@ asa_anés_eﬂGin @

ST Wwig
mar 1 ey @MU 500 Sw@ser @

oar 5 Gﬁlmummu_lrrmrﬂl_m Qummg 200 é{m@asen@

ggéo'r 12 epuenaruimerlib Q»Jg)g)g 150 am@a;m@

“mew 20 . aﬁlrjummu;rre’mﬂu&,@ug’pg}g 300 Siv@saT @
s mar 25 eflpueenurerfi b Quppgl 400 SiwEGESeT @
Getteu(BLorD epeoLiEummHeTseT Qmaﬂuﬂl_llill_ll_'_'l__g,] :

UMD USESSD

‘. 4.00

ep. 4.25
e 4.10.
. 4.50

. 4.00

gard - 200 sio@sd ~ger 10— - 400 S0EsT;

g 15— 100.&61)_@56'11; garl19 — 100 DADGEHT;

sar 26 — 200 siw@sd;, ger30 — 250 siw@sd;

GuGe 2 drer QauafluiBser ‘sl oot opgd Qauafl Camimiige

afemaud Uit 1g. ggameufl rssHe CaueafudiL (l,oa)uaurr@ma;aﬂm

SETEDS sySAmLIY CuGIL® Sa& &l T(LpFeID.
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23.

24.

@5 Cemaeugianpuien Qemaysamer Memeumomn §5655 Siig L uld . : 15.

CaréasiuL. Gauar(HiLd.

el AR B B 5 S
Gseweu gleoop S; 20% 40% 30% — 10%
Caeneu glenm 82 40% 20% 20% 20% 1o,
@Quem@® Gower giwpwlen Qsveysmer gwrflly - gonsE
uélr'r‘r_'r,g,erﬂé;@Lb SIM&Gma swTMEsayLb.
In process B, 75 units of a commodity were transferred from
process A at a cost of 1.310. The additional expenses incurred by
the process were Rs. 190. 20% of the units entered are normally
lost and sold @ Rs. 4 per unit. The output of the process was
70 units. Prepare Process B Account and Abnormal Gain
Account.
ugflevew B wler, 75 siw@sdr @m. 1,310 wdu9d ughao A e
QmbE LIPPLILLL g ahsd Csweurs gp. 190 Qbs LigHaauded
QeiwiiulLg): engmyenrons 20% OGS BLLID gHURD ADS 17
aIQeurm @D . 4 arar elpau@D. Qs uigHlenaudlen.Qeuafui®
70 o@sd YEw. uyhoo B sarég woph ersryer Gearu
S @ SWmilssea|.
The ‘Received’ side of the stores Ledger account shows the
following particulars :
Jan1l Opening Balance 500 units @ Rs. 4.00
Jan 5 Received from Vendor 200 units @ Rs. 4.25
Jan 12 Received from vendor 150 units @ Rs. 4.10
Jan 20 Received from vendor . 300 units @ Rs. 4.50
Jan 25 Received from vendor 400 units @ Rs. 4.00
Issues of material were as follows:
dJan4 — 200 units; Jan 10 - 400 units; 18.
Jan 15 — 100 units; Jan 19 — 100 units;
dJan 26 — 200 units; Jan 30 - 250 units;

Issues are to be priced on the principles of ‘Last In First out’.
Write out the Stores Ledger Account in respect of the materials
for the month of January. -
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If the minimum stock level and average stock level of raw
material A are 20,000 units and 40,000 units respectively, find
out its re-order level.

. peliturmedr A e Goppsules sT&HmLIL SHaTey WHMID FrTef

F&AmUY Stetey peopGu 20,000 Siw@ser whmid 40,000 S EssT
UBGLD. @B g riienL_uded wm Spaanuder oieTaneu SaTadlayb.

The firm employs five workers at an hourly rate of Rs. 2.00.
During the week, they worked for four days for a total period of
40 hours each and completed a job for which the standard time
was 48 hours for each worker. Calculate the labour cost under
the Halsey method and Rowan method of incentive plan
payments.

@0 Hnwsdd gis Ceumawn sar wallse @ 2.00 oisn s

"~ Slgliuenulléddy Geuenen Qaigmiger. LU eumygSled, Brens IBTL_geir

Gouma QAswigfled geu@airpeaimid Quorgsons 40 weafl Crirb Calama
Qeiigy 48 wenfl Cprb  oig@wdssiucL  Cumamu Osig
Wiasgriser. apred wep wHmb Crreudr apemeans L Ciigub
gl sarsd[Hs.

Calculate the overhead allocable to production departments A
and B from the following :

There are two service departments X and Y. X renders services
to A and B in the ratio of 3 : 2 Y renders service to A and B in
the ratio of 9 : 1. Overhead as per primary overhead distribution
18 : A - Rs. 49,800, B - Rs. 29,600, X - Rs. 15,600, Y - Rs. 10,800.
Senaumd gseubamans Qaran® 2 Huss siepwrer A wHmd B ufer
Cuptswasmer samsdl(s. X wpmb Y aem @nsempsesn Cama
gaopurgn. X gieopyier Ceameu A wimb B geopég 3 : 2 aam
elflzsdano Y gieopuien Gsmeu A wpmbd B &5 9 @ 1 eremp
lflzsHaid efsslu@dpg. wsamn GCopOsweay Ldiefsrig
Gupbsweysafier Asmeiy Qameuorm A - . 49,800, B - 5. 29,600,
X - ¢5.15,600,Y - 5. 10,800.

Work out in appropriate cost sheet from the unit cost per
passenger Km, for the year 2001-02 for a fleet of passenger buses
run by a Transport Company form the following figures
extracted from its books. '

5 passenger busses costing Rs. 50,000, Rs. 1,20,000, Rs. 45,000,

. Rs. 95,000 and Rs. 80,000 respectively. Yearly depreciation of

vehicles - 20% of the cost. Annual repair, maintenance and spare
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19.

20.

21.

parts - 80% of depreciation. Wages of 10 drivers @ Rs. 100 each
per month, wages’'of 20 cleaners @ Rs. 50 each per month: Yearly
rate of interest @ 4% on capital. Rent of six garages @ Rs. 50
edch per month. Director's fees'@ Rs. 400 per ‘month, office
establishment @ Rs. 1,000 per month, license and taxes

@ Rs. 1,000 for every six months; realization by sale of old tyres

and tubes @ Rs. 3,200 for every six months, 900 passengers were
carried over 1,600 kms during the year.

em CursGaursg Hniogsen ThHsafdmhs Weteumb eflLighiseT
er@ésiulHerarg. @@ Lwall 8L TG wGD iss Cswma
o flw oLés Gswa sraflar epawrs 2001-02b  yemgHEG

“swnfl&sa]b.

5 Lwesdr CUBBS IL&sb WwanGuw . 50,000, @. 1,20,000, .
45,000, . 55,000 wpmb . 80,000 GL. @b ursHSIeT
e Gslorand LsssHd 20% @D W@ U(pGIUMTLILY,
ugmofliy  wHmid e HRurshEEEEE Gauorangder 80% Gemey
@D, gL EBiEer 10 pLiTEHEREE @ wrs @. 100 digepd, Heflamée
(20 Guitég) LBD @amIsEE . 50 eiswb GeaigsuuL Coam@L.
<TG DG apsdlen Bpmean aully 4% @b, urios 6 Qe (56

geuQaurans@h @5 S0 eigid b Carmd QFwiss CauamELD..

Qua@pT sLLamd . 400 wrgh Csrmid, ieuws Asweysdr
(rsib) @ ¢m. 1,000 geGeun(s morssHn@h 2-fiwd wpmb afl @
5. 1,000 geuGleum(m QNOTSSHDGD Levpws Lwi efpLienar gpeid
Aal_s@h Ogmens . 3,200 <@w. 900 Lwelsemer 1,600 £.i8.
@bsran® Qaren® sandreTg. '

What are the disadvantages of calculation of Machine Hour
Rate? . )
@updy wanfl c16lss samsdLeSler Smioser wirameu?

SECTION € — (3 x 10 = 30 marks)

Answer any THREE questions.

What are the objectives of Cost Accounting?
SiLssellame samsdwelen CBIHERISET WTeme?
Calculate the earnings of workers. A, B and C under straight

piece rate system and Metrick’s multiple piece rates system from
the following particulars :

Normal rate per hour — Rs. 1.80
Standard time per units — 1 minute

_ Output per day is as follows :
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Worker A — 384 units; Worker B — 450 units; and worker C — 552
units working hours per day are 8.

\Qebreu(Hid aﬁ]uuréwsmﬂ@ﬂ@‘rb.gj Gt s 6fldlg wpempiLigud Quifgav
QuEBEE DG N85 apliugud Gauamanurdr A, B wpgd C uen
Gacdlen saT&El(HS :
S0 el CorsBHE sngmyem cifsin — . 1.80
RH AVGEES é{@]m;ﬂé;a;llluf_-L Cpyb — 1 BlblLib
BT enmsE QauafluS (e Gemeumony :
Goumawsmar A — 384 - SEseT, Caumewmer B — 450 @{G\)@;BG?T,
' Gauanawimer C = 552 je0@aT, BT @enpié@ 8 oenfl Gpy Ceuene.
22. . A company has three production departments and two service

departments, and for a period t,hp departmental distribution
summary has the following totals.

Dept. :
Service Dept. S,-Rs.234 and S;-Rs.300; = :Rs.534

The expenses of the service departments are charged out on a
percentage basis as follows :

Particulars G2 B S, 8,
Service Dept 8, 20% 40% 30% — 10%
Service Dept S, 40% 20% 20% 20% -

Prepare a statement showing the apportionment of two service
departments’ expenses to Production Department.

@m BHmwb  epeiy | sumiiiy  gopsmeryd @ranh Ceameu
giopsmanyb Asrardreng. dtameler DbS SPDSHEHHEGSET 2-6Ter

aupmISET QFTGLUIL| G-
surfiiy P, —5.800; P, — 5.700 wpgid P, — 500 =. e 2,000
Wwenm: L
Geaneu S, —e.234 wpmw S, —5.300; = m.534
glen: '
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